WS FeGICERE

1. ZDHARE THH 30m TH < & 40 303020 £,
(1) EZ»oAEE TOEBEITm TT 7,
30X40=1200 %% 1200m
(2) ZNOAEE THIE 300mO HEEE TRENT D & 15303000 70
1200+300=4 %% 443
(3) HNOARE THIE A0mDEE THRENT D L. A5 ET M,
1200+480=2.5 (47) 055=30% %x 245730F

2. 10 F[# T 2000mitETe > = v MERH Y 77,
(1) 2oV =y MEOHE I TFEMm TI ),
2000+10=200 %% il 200m
(2) 2OV = MEIE 5 5 T km R E T,

200X 60X5=60000 (m) 60000m=60km %% 60km
(8) ZDO¥ = v MEDH S IIHHEM km T,

200X 3600=720000 (m) 720000m=720km %% M 720km
(4) ZO¥ =y MEN 2160km HETe DT 737> 2 R IZAATREE T2,

2160+720=3 % x 3 KM

3. i 420mTEDL HEIERH Y £7,
(1) ZoBEBHIT 5 5 T km R E T,
420x5=2100 (m) 2100m=2.1km %% 2.1km
(2) ZOHBHH O S I FEEE M T,
420X60=25200 &z KHd 25200m
(8) 2 ¢ Tff km HEZF T,
ek 25200m =W 25.2km  25.2X2=50.4 &%  50.4km
(4) Z O BB 840mIETe DI 4323030 T,

840+420=2 %z 2%
(5) ZOHBNHEN 7T70mETe DI TSR D300 £975,
420+60=7 (P 7Tm) 770+7=110 () 110¥W=14350F %z 145508

4. AHEDS B~ 7 — &2 —TRBEIT 5 DOICKHEE 30km T/7< & 5 W70 £4, KK 20km TIT< & il
RUAT A3 23030 F 97,
30X5=150 150+20=7.5 (KffH]) 0.5 KFHI=307%r &% 7 304




